1.

—_— e O
03 5 24 2 71 5% 12H?

@ {2} c {2, 4, 5}

@ {1, 2} c {2, 1}

® {g}=0

@ (6.8} C {o| o= 10 ol5to] A)
® {1, 2, 5} c {1, 2}

F A% A = {zla=169 %5}, B =
{1,2,4,a+1,2xb} o thold A c B, BcCc A ¥
o, a+b 2 F22(F, a+1<2xb)

O 11 @ 12 ® 13 @ 14 ® 15

A A ={1,3,5 7,---, a} 2 FEA Fol|A
Wi a—4, a—2, a & A Zdot= FEHT]

M7k 64 0L ™, o o] & -5tofz=t.

N

@ oM @ 47 ® 6 7
@ 8 7 ® 10 A
B R A=t

@ n(2) =n({0})

@ n({1,2,4}) —n({1,4}) =2

® n({4}) =4

@ n({x|ze= 40 o5te] #4=1) = 40

O n({zlze2<z <4 EF}) =1

Al

[e]

rlo

@ n(2) = n({0})
2,4}) — n({1,4}) =2

® n({4}) =4

@ n({a|et= 40 ol5te] A4} = 40

O n({zlze=2<z <4 E5}) =1




8. o

o
L

T A% A B St Ac Bolal, BC A

o o

., dlo

® A={1, 2 4}, B={1, 2, 6}

@ A=2,B={z|ax 10|59 A}

® A = {3, 4, 5}, B -
{z|2¥E 380 33 s5Ec} 22 )

® A = {z|2E10E0F2ES), B =
{z |z 10 ol5t] &<}

® A = {x | 2= 209] °F%
{2 | z= 20 9] 59 v}

B =

10.100 oJ5}8] A% Foll A 3 o] w4
obd 0] /45 Fatolat.

oA 5 o] Bl

©2e€4,6¢A

© a+becA acA becA

@ 4 @ 5 ® 8 @10 ®I12

124 "9 A, B, C ofl diste] A={1, 3,5}, B={2,4
6}, C={zx+y|lzecA yeB} €, nC)=?
® 5 @ 6 ©d

@ 8 ® 9

13. 8% A = {z |2 49 oF5) o BREAFS X 2
SHAT

WP X 9 RE YAEC] FL Torolet,

14. 5 A% 4 =

{#||z] < a, z=BF} , B =
{b—5 b—4,b—3 b—2 b—1,b b+1} o st
o, AcBolZx Bc A, A2 qb o TS 7
Shofet,




15.U = {afet 20 o]5k9] 45} o REYTH 4, B,C
7 glek. o) FH O 2 Lhebye o Q] Aelt 1 91 Al
] AL A, o OE g o 2! Ael7h1 4

LO1AH.0 2 ehyS o] 22 A}

191 459 AFS € 21 @ o, n((4N B) - C)

£ Fsjolel.

A0 JEL B




